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HEBXZJDEE
VA KERER #ETE 10-2-2
FST X1,Y0 - X6, Y4 ]

A5 JHEFE : 16.56 m

5238Lx = 3640 (mm) F3ALy = 4550 (mm)

AZ7E :D =150 mm, dt = 60.0 mm, Lft = 195 N/mm"2

j=1/8 x (D-dt) =78.8 mm
ASJaEES 151283800 22277777
REtHEE - w = 9134 N/m

ADEFEE L THREAAMITE— AV FEFHELEY
wx = Ly"4 / (x4 + Ly"4) x w = 6480 N/m
BAmimED Mx1 = 1/12 x wx x Lx"2 = 7155 Nm/m
B0 RER Mx2 = 1/18 x wx x Lx"2 = 4770 Nm/m
ROMmmHER Myl = 1/24 x w  x Lx"2 = 5043 Nm/m
ROPRE My2 = 1/36 x w  x Lx"2 = 3362 Nm/m

&Ko THEBAIIMT ERRIEMI 2R RBIFE— AV FELET
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BIDRLERMAERE atx = Mx1 / (Lftx))

px = Aatx / atx x 1000 = 127(D13) / 466
— D13@200 &9 5

FAAILERFHIERE aty = Myl / (Lftx))

py = Aaty / aty x 1000 = 127(D13) / 328
— D13@200 &9 5
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1000 = 466 mm"2/m
1000 = 272 mm

x

x

1000 = 328 mm"2/m
1000 = 386 mm
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ERXSTDHE

VA KERER #ETE 10-2-3

FS1 X6,Y0 - X:12.5,Y4

ASJEE:21.53 m

}238Lx = 3640 (mm) &ALy = 5915 (mm)

AZJE :D =150 mm, dt = 60.0 mm, Lft = 195 N/mm"2
j=1/8 x (D-dt) =78.8 mm

ASJHEIEES 169714 N

RETHEE - w = 7882 N/m

ADEFEE L THREAAMITE— AV FEFHELEY
wx = Ly"4 / (x4 + Ly"4) x w =684 N/m
BAmmED Mx1 = 1/12 x wx x Lx"2 = 7612 Nm/m
ERRRE Mx2 = 1/18 x wx x Lx"2 = 5074 Nm/m
ROMmmHER Myl = 1/24 x w  x Lx"2 = 4352 Nm/m
ROPRE My2 = 1/36 x w  x Lx"2 = 2901 Nm/m

&Ko THEBAIIMT ERRIEMI 2R RBIFE— AV FELET
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DAL ERAMREE atx = M1 / (Lftxj) x 1000 = 496 mm"2/m
px = Aatx / atx x 1000 = 127(D13) / 496 x 1000 = 256 mm

— D13@200 &9 %
RDB L EEHITETE aty = Myl / (Lftxj) x 1000 = 283 mm"2/m
py = Aaty / aty x 1000 = 127(D13) / 283 x 1000 = 447 mm

— D13@200 &9 %
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ERRSTDEHE
BHAKERER #1EI S 10-2-4

FS1 X2,Y4 - X8,Y8 ' '
ASJEE:19.87T m
$2:8Lx = 3640 (mm) 3Ly = 5460 (mm)
AZ7E :D =150 mm, dt = 60.0 mm, Lft = 195 N/mm"2
j=1/8 x (D-dt) =78.8 mm
ASJHIEES : 161330 N '
REtHAEME - w = 8117 N/m

ADEFEE L THREAAMITE— AV FEFHELEY
wx = Ly"4/ (x4 + Ly 4) x w=267719 N/m
EOmmEs Mx1 = 1/12 Lx"2 = 7484 Nm/m
BiAPRE Mx2 = 1/18 Lx"2 = 4990 Nm/m
ROmimEs Myl = 1/24 Lx"2 = 4481 Nm/m
RAhRER My2 = 1/36 x w Lx"2 = 2988 Nm/m

&Ko THEBAIIMT ERRIEMI 2R RBIFE— AV FELET
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DAL ERAMREE atx = M1 / (Lftxj) x 1000 = 487 mm"2/m
px = Aatx / atx x 1000 = 127(D13) / 487 x 1000 = 260 mm

— D13@200 &9 %
KOG EERHITETE aty = Myl / (Lftxj) x 1000 = 292 mm"2/m
py = Aaty / aty x 1000 = 127(D13) / 292 x 1000 = 434 mm

— D13@200 &9 %
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HEBEXSTDEE
VAARERES #EIS 10-2-5

toXe YA XT25Yv8
AZ7EE 1491 m
52i8Lx = 3640 (mm) &ALy = 4095 (mm)
A5 TJE :D =150 mm, dt = 60.0 mm, Lft = 195 N/mm"2
j=1/8 x (D-dt) =78.8 mm
A7 JEEES 115256 N I
EREHAERE cw = 7732 N/m

ADEFEE L THREAAMITE— AV FEFHELEY
wx = Ly"4 / (x4 + Ly"4) x w=4760 N/m
BAmimED Mx1 = 1/12 x wx x Lx"2 = 5256 Nm/m
B0 RER Mx2 = 1/18 x wx x Lx"2 = 3504 Nm/m
ROMmHER Myl = 1/24 x w  x Lx"2 = 4269 Nm/m
ROPRE My2 = 1/36 x w  x Lx"2 = 2846 Nm/m

&Ko THEBAIIMT ERRIEMI 2R RBIFE— AV FELET
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BIDRLERMAERE atx = Mx1 / (Lftx))

px = Aatx / atx x 1000 = 127(D13) / 342
— D13@200 &9 5

FAAILERFHIERE aty = Myl / (Lftx))

py = Aaty / aty x 1000 = 127(D13) / 278
— D13@200 &9 5
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1000 = 342 mm"2/m
1000 = 370 mm
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1000 = 278 mm"2/m
1000 = 456 mm

x




